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Factorisation trindme carré non parfait
Pour se dépasser !

METHODE 1 : décomposer un terme

2X2+ 15x +7
2X%+X+14Xx+7
X(2X+1)+7(2x+1)
(2X+1)(X+7)

10x% - 3x -18
10x2-15x+12x-18
5x(2x-3)+6(2x-3)
(2x-3)(5x+6)

3x2+ 17x +10

8x2 - 22x - 21

(x+4)(6x-1)

3X2+15x+2x+10 8x2-28x+6Xx-21
3X(X+5)+2(x+5) 4X(2X-T)+3(2x-7)
(x+5)(3x+2) (2x-7)(4x+3)
6x2 + 23x +20 10x2 - 97x - 30
6X2+15x+8x+20 10x2-100x+3x-30
3X(2x+5)+4(2x+5) 10x(x-10)+3(x-10)
(2x+5)(3x+4) (x-10)(10x+3)
7X2-12x - 4 7x2-16x +9
7X2-14x+2x-4 7X2-7x-9x+9
7X(X-2)+2(X-2) 7X(x-1)-9(x-1)
(X-2)(7x+2) (x-1)(7x-9)
6x2 + 23x - 4 7x*-10x +3
6x2+24x-1x-4 X733
BX(x+4)-1(x+4) X(x-1)-3(x-1)
(X-1)(7x-3)
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METHODE 2 : Complétion

X* +8x-48 = X*-5x-36=
= x*+8x+16-16-48 _ isg.28 25 .
= (x+4)-64 4 4
= (x+4y -8 - ( _2)2 _16
= (x+4+8)(x+4-8) U2 4
= (x+12)(x-4) _ (x_g')z_(g')z
o2} L2
- (X_E+E'][X_E_E']
272 2 2
= (x+4)(x-9)

- X _64+55
= X2+10x+25-25+21 X ;;“;’4 b4+
- (x+57 -4 = (=8 -9
_ 52 _92 = = (x-8y -3
~ g*s) ;)(x_s 2 = (x-8+3)(x-8-3):
= (x+5+ +5-
_ (x=5)(x-11
_ (x+7)x+3) = (x=3X )
X2 —9x+20 2x2+13x+15= |
- x2-ox+81_81 9 =2 xz*’E"*E]
4 4 2 2,
_ 'X_E’z_l -9 13 +@_E+E]
2 16 16 2
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14 } _[%]2]
(G )
=2(x+5)(x 3]

- 2(x+5)(2x+3)
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= (x-4)(x-5)
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METHODE 3 : Somme et produit

R R R e ey
O S

fffffffffffffffffffffﬁfﬁf



SVRIERIERIRV IRV IRV IRV R IR IR IR IR IR RN N S

METHODE 4 : Horner
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